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Subject: IJUNIOR ENGINEER ELECTRICAL

Section : Domain

0_1 An electrically insulating material that is used to prevent metallic contact between the positive and negative plates in a cell,
but permits the flow of ions between the plates, is . QUES“OI’I ID ' 6044815089

Ans - X 1. cathode
X 2. negative electrode

« 3. separator
X 4. positive electrode

Q.2 ©F 9”& SRy & @AW OTE 0.00125 wfr °C #1 300K W, g Wi 1 @ F1 3H AW W wfey
2 o Fa gm? Question ID : 6044815046

Ars X1.1,154 K
X21127 K
X31,400 K T
v 41,100 K

Q.3 _ isusedasa coolant in electrical machines to increase their efficiency.
Ans x 1. H2

X 2 COy

W 2. SFg

X4 Ny

Question ID : 6044815103

Q4 The nominal voltage for lead-acid cells is: Question D : 6044815087

ans X 1. 24N
V22V
K314V
K412V

95 The internal resistance of an ideal voltage source is: Question ID : 6044815060

Ans X 1. one
v 2 zero
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< 3. proportional to resistances in network
< 4 infinite

6 Zafdr aw By &, 1.5 @ wieRus F fggy urr Fw €7 Question ID : 6044815074

2A 4.5ohm
1.50hm

N R
X225A
Kz A
vi15 A

Q7 ¢ 3 Foar :
STeedT & 0T & HUR W, e & & F 7T F Question ID : 6044815095

<Y, e, otes, TR
X . grar

X 2 vgfafaasm

v o confes

X 4 =iy

Q.8 =7 fEweT &7 907 F{ I ¢ @Y & T H9AT 1 ¢ @Y F 3=U5 F W AT S g1

Question ID : 6044815034

A. @=w-HeT (Siemens-meter)

B. §i#=H/AET Siemens/meter

2. FET C.ama= # 3 & FT 9y #7 @ A f

3. 9= D. a9H e # 3R & W wioay F #i of=ae @ fen §

Ans X 1.1-B, 2-D, 3-C
X2 1-A, 2-D, 3-C
v's 1-B, 2-C, 3-D
X4 1-A, 2-C, 3-D

1. FrEsaT

Q.9
I FHAGH A e ey T8 S g gl Question ID : 6044815016

AE oy feegesherar (afafefad)
v 2 TTEEAT
# o gfatry &1 amAe oTE
X4 gfeRersRaT

Q10 One commercial unit of energy equals to: Biuestion 1D BU4LE1S006 ]

X 1. 1 watt per hour
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< 2.1 watt hour
v 3 1 kilowatt hour
X 4.1 kilowatt per hour

Q11 Ha & v B &, 15 @ sfduw & fega umw & sfewor F=m @2

2Sohm Sohm

Question ID : 6044815064

X25A
X<3.1.0435 A
x4 3913 A

12 : .
Q batteries are used in car. Question ID : 6044815090

Ans X 1. Zinc-cadmium
v 2 1ead-acid
& 3. Nickel-cadmium
X 4 Zinc oxide

Q13 The operation of a thermocouple is based on: Question (D' 6044815108

Ans X 1. Lorentz law
v 2 Seebecks effect
/< 3. Hall effect
X 4 Fleming’s right hand rule

Q.14 Sa-ietms & F B 1 For wEf @ 9 Y
K e T Regar (FeeE) W KSR Question ID : 6044815112

Cd +2(0H) ——

Ans X 1. 2Ni(OH), + Cd(OH)2
X 2 2Ni(OH)2 + HoO + 2¢e”
X 3. 2Ni(OH)2 + 2(0OH)
v + Cd(OH) + 2e”

.15 , . - .
Q15 1 volt is equivalent to: Question ID : 6044814987
Ans X 1. 1 joule coulomb

/< 2 1 newton per second

#< 3 1 newton second
+ 21 joule per coulomb

Q.16 The material, from the below; having negative temperature coefficient of resistance is:
Ans

Question ID : 6044815009

& 1. aluminium
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< 2 brass
< 3. copper
v 4 carbon

Q17 v uiftgs oo S IUET TR SR F Y |
e Ko wm@ A e

X2 33T w7 § oiafda @ ¥

v 5g S

X« yfafda war &

Q.18 Jrerer &IFUT ASEUT-TEEE 3T F TH F FT F gt fFar smEr

"X TR (edETsEe)

X 2 e (HTERR)
v 5 IHAT (IEETE)

X« fapfa v 9F (V= 3199)

Q.19 v a= (fe0) # vw FIA & w7 F T B 0 oF AgeA AW F 2 @/m w1 SR §1 200 VAT kW
¥ amw (feT) F e s an ) s B e Question ID : 6044815047

s 9C1.. 80 'm
X240 m
v':20m
X424 m

Question ID : 6044814994

Question ID : 6044815099

20 : : :
020 i Rt e R A, 10 @ e # feega omr A F Question ID : 6044815071

- é 2zv
= %
? a

Ans X 1.1.632 A
X2 0263 A
v 1895 A
X 42434 A

Q.21 % e wRRw ¥ T dvfee F @EfEE S W T e 0.5 A g § 3 s wiRy & R o
T dieediet 50 V axfar 1 36 9y 1 A w4 g ? Question ID : 6044814997

1 50 0
<210
V3100 Q
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X4250

22 ; ;
02 e o aw R &, 1 @ yioRs & Regg awr #=w 2 Question ID : 6044815065

1ohm

M

glw gsonm gm (1'5;.

A X1.4.12 A
v23A
X31A
Xa4A

Q.23 #rr Ry 7w R A, 0.1 @ WiRvF & Regy umr & ofEwr 7" F:)

0.1ohm

AN

Question 1D : 6044815057

A 0.5ahm 0 &onm A

as 0K 1,542 A
X2478 A
v:55A
X4+375A

Q.24 mﬁﬁ#@ﬁﬁm,mhﬁ_ﬁmmmm
s o1 et

X 2 ferar

X o facge umr

X 4 fafRrsT e (A1)

Question ID : 6044815092

Q25 If the temperature increases, the resistance of a pure metal: Question ID - 6044815008

& 1. first increases then decreases
X 2 remains constant

v 3 increases

X 4 decreases

Q.26 For the replacement of internal resistors, the ideal voltage source is replaced by:

Question ID : 6044815061

Ans X 1. capacitor
v 2 short circuit
/< 3. current source
X 4. open circuit

Q.27 ( |
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Question ID : 6044815063 I

X 1. voltage source
X 2. capacitor
v 3 open circuit

X 2 short circuit

Q.28

The term electric pressure is also referred as:

Question ID : 6044815007

& 1. Resistance
v 2 Voltage
X 3. Power
X 4 Current

Q.29

A% A 1 T Sy 0.6 @ 3T Iue IR 600 M ¥l A B & Iee 9y 0.8 @ 3 due
sfERnT 400 Ma #1 ofy & gt At Avfee & TS & o €, & 39 T sheRn Reer ge?

Question ID : 6044815024

X1 1kQ
<212 MQ
vil4 0
X414 MQ

Q.30

The SI unit of conductivity is:

Question ID : 6044815015

& 1. Ohm/meter
v 2 Siemens/meter
X 3 Ohm-meter
X 4 Siemens-meter

Q.31

A @ v R A, ARs W e o A fegg o e @2

Yohm

Question ID : 6044815068

l : AN

— 3chm Sohm A

[
vi1A
X24A
X3 412 A
X243A

Q.32

Ans

Aea 9T &7 SiaT FeTsTer Q g gl

Question ID : 6044815005

X125
2 250
X3 0
v 41,000

Q.33 20 °C W s a¥ & s & shery 10 @ § 3 e 0.0039 97 °C #1 0 °C W a=fw F adt

(¥ Era) = F:

Question ID : 6044815039 I
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Ars X1.0.000124 3f¥ °C
X 2.0.0000423 gfy °C
v'3 0.00423 9fy °C
X 4 0.00324 9fF °C

Q.34 A copper wire has a resistance of 10 © It s stretched by one-tenth of its original length. Then its resistance will be:
Ans X 1.0Q

x210Q

X311Q

vVi121Q

Question ID : 60448150492

Q.35 R =T # NICd Fei & uaeas Regea (3ees) & R oA RegE (FEE) &
____#mH Question ID : 6044815113

e X FefEmw waiearss, e
X 2 Fsfms, @ea

X 3 e gregiaaEs, SRR dFaEs
v ¢ FFa grEseaEE, FsRTH

Q.36 -
Lead-acid cells are _ s Question ID : 6044815091

Ans o 1 rechargeable cells

< 2. use and throw cells
X 3. forbidden cells
X 4. non- rechargeable cells

Q_37 are those which offer very high resistance to the flow of electric current through them when subjected to electric
PRihipl Question ID : 6044815100

Ans X 1. Conducting materials
v 2 Insulating materials
< 3. Ferromagnetic materials

X 4 Semiconducting materials

Q.38 =% z= Frfafm oftgy & w 0w 9wy ¥ s 0 TR § e ow dets a0
S @, & 3| SRy w1 AW Fa g Question ID : 6044815124

. hm
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Q.39 F=er: 500 W 3T 200 W afET = &1 @em 260 V 9T e €, 3% SO # 39 F4 gem? Question ID - 6044815030

iz K14z 25
N25:2
vi2:5
X425:4

Q.40 BT & ¥ Re ;
STeReT & 0T & HUR T, AE F T Question ID : 6044815006

Ans o EYfRrE

X 2 ey

X 3 corfEes

v FHEfTA
Q41 A R oo werelt A ¥ Frwe SRR F AITA O HUTERS FE AT &7
Ans 3 1 SRTETA T

X 2. 3T (ATFHN) HT

J3.Q§ﬁﬁ1m'$r

X 4 &S &7

Question ID : 6044815011

Q.42 300 C & smer &t TumeaRa w<e ¥ fAw, 0.1 A Rega o &1 vaw Bea ww @ el wifee?
Ans o 1. 50 min

X 2 5min

X355

X4 505

Q.43 == = (Fe0) & F= # ¥ Fegn uw wEis A9 E A o7 Sen see e &, oig feege e
AT TR ST aaf?:: FTa? . Question ID : 6044815023

X g R 3eH T § o A
X2 3fd AR QU 9 & T @ar ¢

Question ID : 6044815029

X 3
Fife amafel o # A FEgd o A iy F e aer @
v

arTe i e @ feRy Hfd AR & 3R @ ¥

Q.44 300 K 9T, v& @ & ufe & oA qOE 0.00125 /°C § it g@e wfadiy 1 @ #1 1100 K w2 war
gt =2 gem? Question ID : 6044815033

Ans X 1.5.1225 @
X230
/<36.125 Q
vi2@
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Q45 1 coulomb is equivalent to: Question ID : 6044814983 J
Ans

X 1.1 joule per second
v 2. 1 ampere second
X 3.1 joule second

/< 4.1 ampere per second

Q.46 At g & ﬁﬂa?[ F FH FLAT %’I Question ID : 6044815107
e XK. @ A (Fres 2R

X 2 gfader
V' =TeTRed
X ¢ &7 gy (Fres 12y)

Q47 ogret Fr w Regelaar (Yerege WA Fr & 32 Question ID : 6044815098
Ans x 1.

Rege & dee F 9EHT & Oeed & T A9, S O5H AF gFed F 3o e 8l

X 2

Toege & e &1 Regd &1 uac & WY g9, S 59 687 d9dr 3o W g

X 3

Tahrg &7 Ueted 1 Faeg & AFar F WY W, F 5W 8T Oed B 5o 4 g

v

foege & uaey #1 fagga &9 d9ar & WY 39 S W A uFe F 30 el ol

Q.48 No current flows through two charged bodies if they have equal:
Ans X 1. gain

+ 2 potential

X 3. current

X 4 capacity

Question ID : 6044815050

Q.49 Batteries operate by converting chemical energy into electrical energy through reactions.

Ans X 1. chemically neutral
« 2 electrochemical discharge
X 3. electromechanical discharge
X 4 electron discharge

Question ID : 6044815076

Q50 Frirg & urg (wie aT$-Aee) & WA wEl A ST 32 Question ID : 6044815109
e o e R (aitatets R &
X2 T A
A 3. TROUTATT (TfFEeRHeR) &
X4 aeT &
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Q.51 2 A fagge urr aTen vw 3 @ F AU e afFa T W
as of 112 W

X22W

X34 W

X4+8W

Question ID : 6044815043

Q52 nsulation resistance of an insulating material should be:
Ans  of © high

< 2 one

X 3. zero

X 4 low

Question ID : 6044815004

Q.53 The resistance of a metallic conductor is inversely proportional to:
Ans < 1. length of the material

v 2. cross-sectional area of the material
X 3. temperature

Question 1D : 6044814992

X 4. shape of cross-section of the material

54 Y >
54 1 FoTe Y AN s F HEY F WA AT 87 Question ID : 6044814984

Ane X1 625 10'? ZRaeTeT
X2 625x 10° soware
V'3 625 10 SXFeieT
X 4 0.625x 10'® Solele

Q.55 ¥ & fEa & wmER, @5 sferus & T Avfes # Begd vee (GEEE) @ a% &F

T w1 Question 1D ;: 6044815069
Ans x1-

X 2

X 3.

T fAggdaEsd a9 Wd A FAER FA Forus

v

vEH faegaaEF o Hig AR AofrA gfatus

Q.56 6 @ & &= R # THT F § T BT §) @ gen sfedy feee @em?
' 9 o

X26Q

X318 Q

Question ID : 6044815058
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vi2Q
Q.57 3w éafrmj: fore Hotess Reger (sogts) T Ho s & T A Question ID : 6044815085 ]
Pb+ HpS0, ~——
A o1 PbSOy + 2HT + 2e
X 2 PbOy + HpSO4 + 2H' + 2e”
X 3 PbOy + HySOy
X 4 3PboSO4 + 2HCI
Q58 T IOy I & !gﬂT gf{gy &F Fgr Far a"’ Question ID : 60442814990
Ans  of 1
S A ¥ warga Regd urr o @ @
X 2 o g ¥ vETRa Ao o @ ¥
X 3.
v SO & vaTRRe Rege U e @ ¥
X a
F§ FEA ¥ T dees HAd T &
% ST #T TH. HTS. TS FAT 27 Question ID : 6044815014 ]
Ans ey ﬁh
v 2 @A=H (Siemens)
X s T
X4 HER
Q60 i R o o &, 3 @ witRiue & faegy urr fhae #2 Question ID : 6044815052
éam
{TT: '\1/:;1
Ans €1 1.438 A
v>2 1325 A
<3 0.824 A
X 40711 A
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Q.61 0°C W, &% & vs 77 # 4 ma & s ¥ AT Fwh Sy & SA UiE 12345 9iC 1 70°C
W EEF TR F A AT Question ID : 6044815038

Ans X 1. 452 mQ
v 2519 mQ
X3 422 mQ
X 4 555 mQ

Q.62 & T WA, ST TR & e S F Tl FSH FAA & [O6C 75 mJ Tl Fer= W 8, w7
s = 32 Question ID : 6044814989

As WELIBNY
X2 750V
V'3 75 kV
X475V

Q63 IchH F yRPa A FrIEETF _ & T F TR ar 5w B
Ans X‘].

off e FRRE FF W aFaT F T sHH deeS F Iy gl
X 2

o atE 3R f9 W Rega o & i (fE) F e sur s & sueey ghne
v

ot TF HEART g T &THAT % WIS ST &TAAT F 3Ty gl
X 4

ot T 3R g W dees i (R & wder swer atAar % 9een wiae

Question ID : 6044815079

Q.64 As the temperature of pure metal increases, the product of its resistivity and its conductivity:

An g : Question 1D : 6044815048
s X 1 increases linearly

X 2 increases exponentially
X 3. decreases
v % remains constant

08 o R v oy & ol fegd orr 1 FL| Question ID : 6044815121
Gohm

°

ars Q' T8 A
K22A
X34 A
Xa+1A
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A0 v sreETerR & ATYH U F AW FT A 82 Question ID : 6044815017
ans 1

X2 THh

v i HUTcH®

X 4 USATcHS

Q87w sext e orT ¥ Wa F el gfokty Reaar g 872 Question ID : 6044815062
Ans o QT

v g
X3 TH
X & G (AeaH) H it F Hegaiias

Q.68 v sftrmm gufd Regs uwr # wowr w05 W ot Brifts B v 1.8 ke iR # ¥ R
Fr # Question ID : 6044815120

Ans of 116 mA
X2 016 mA

X316 pA
X416 A

Q.69 =% ¥ Rega o & FOH (FHLTA) F HEER, TR § e ae w0 aranst F Reg unr
FemiordT @ w e e @ 27 Question 1D : 6044815051

X 3
v:>
ST H AU FA Tl g 9nr &F AT F e

X 3.
S # 99U F A dece R STy & IR & e

X o T

V7 el T ATy # For fegd o A R Question ID : 6044815117

AR

§ 4ohm
12ohm
(v §

L

? 8ohm

Ans X1 2 A
v21A
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X315 A
X405A

Q.71 v &g & (feemie oW =7 240 V, 60 W &1 FIRFT TnfiT (375 ¥ o 240 V T AE W20 °C F
FAY & AAE T e B ST A O 25 A F s Rege o o 1 T 20 °C Question 1D : 6044815001
FTAE A 0.005°C ¥, & FF F HeFAT AvAw w74 e ?

Are X 1.1,656.3 °C
X 2 165.63 °C
V31,800 °C
X<+ 180 °C

Q.72 Grr=fafaa R &, $b ganr St Rege urr i s #r s §2

Question ID : 6044815056

2ohm 3ohm
g Bohm

Sohm 4ghm

1ohm

J;‘Iié A~
Ans X 1.325 A
< 21438 A
<31325 A
v:215 A

Q.73 = v & 1.75¢10° Alm F1 597 &7 FOF9 A W 0.2182 Whim® &7 SF51T Fa#d Oeed Sehen
FIT &1 SHHT TG E7 A0 (H /m) F F Question ID : 6044815106

Ans X1 0.6
X204
X3
viai12

Q.74 #r f&& v R & feeiwwr 57 ¥ 5 @ yfodiuw A Rega oo 79 w1

Question ID : 6044815067

ohm

3R

ans X 1.4 A
v23A
K3 1A
4412 A

Q.75
Question ID : 6044815072
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4 @ gfertus 7 gy urr 1d

§ 100hm e HY
§4ohm

— 8ohm
= N

Ans X 1.1.632 A
X 2.1.895 A
v'30.263 A
X4 2434 A

Q.76 According to Norton’s theorem, electrical network can be reduced to in parallel with load resistor.
Question ID : 6044815070

Ans X 1. single emf source and parallel load resistor

X 2 single emf source and series load resistor

v &)

single current source and parallel load resistor

X 4 single current source and series load resistor

Q77 Conductivity is reciprocal of: Question ID : 6044814993
Ans  of 1 resistivity

X 2 electric density

X 3. electric field strength

< 4 resistance

Q.78 For a material to be a good dielectric, itmustbea/an .
Ans X 1. conductor

X 2 solid

v 3 insulator

Question ID : 6044815097

X< 4 semiconductor

Q.79 =@ & www & wiody 25 °C 9 55 @ ¥ 3 75 °C W 57.2 @ ¥1 0 °C W s Ieaw we Ui
(3 Erar) I W Question ID : 6044815128

Ans € 1.0.009/°C
¥ 2 0.0009/°C
X30.9/°C
24 0.09/°C

Q80 gy ﬁ'{g?—[ T % TETE & TaUT &Y FAT g AT 87 Question ID : 6044815020
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e e s
X2 gfere
X s s 7ot
X 4 =ToTehed

2! g &5 Rl & S A T () G Question ID 6044815093
" gﬂ;(ﬁﬁm i ¥ O (dow) T W
;i‘;u;;r(éﬁm ¥z ¥ T (FE) d7 W
ﬁ?;;r—r(éﬁm ¥z ¥ Ty (Fifdsen) §5
ga;(mmawm@ﬁm LERN

¥ EeR & FaE e w L0 H'eﬁ' grar %‘7 Question ID : 6044815010
e XK. 3= dreesr aftgdt @X

X2 e Sferius |
X 3
faega uRT & FA g e aRgd |

v o faaa afeest (3w agem) =

Q.83 Insulation resistance is defined as opposition to the flow of:
Ans  of 1. leakage current
X 2 voltage

Question ID : 6044815018

< 3. electromotive force
X 4 current

Q84 - ¥l # Rega swued (segraTse) Rrwe for g 87 Question ID : 6044815083
Ans (g
TeFgiE 35 AR TR HFA

X 2 HyS04 3T NaCl &1
X 3 FESFAINE IFT HT I F
v o wergle Ea HR 9 @

Q.85
Question ID : 6044815066
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#rr G o R &, 3 @ yuw # Rega uwr #=r 2

1ohm

M

g 12V 3ohm Sohn 1‘) BA

G ST
v24A
X3412A
Xa1A

Q86 Insulation resistance of a straight cable is: Qubstion IDk6044815021

Ans 1 zero

< 2. directly proportional to the length of cable

v 3 inversely proportional to the length of cable
X< 4 one

Q.87 zfy sfs slew & s o oo ST & S 5F F W e 20
e e s (R )
X 2 g gfedus (Sufafes W)
X 3. -7 gfeus (AF-Nfaaw few)

X 4
- gfaus (FF-dufafes IHw)

Question ID : 6044814991

Q.88 The main reason of using Constantan wire for making standard resistance is:
Ans X 1. high melting point
v

negligibly small temperature coefficient of resistance

Question ID : 6044814999

X< 3. low specific resistance

X 4. high specific resistance

Q89 fgge wfedt frega vl % waE & e e #ar g Question ID : 6044814988

Ans X 1. ETolehed
v 2 g
A3 uF A
N Ny

Q.50
Question ID : 6044815122
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TR 7H TR aREy ® U O W IRy ¥ RANe ST UIEd § o U aedsl | 3R v
JieRIY &, A1 38 SRy & A = gem?

e K16 0
X215¢Q
X345Q
vi3Q

Q.91 frro-sfrmm i & o uaers Regam (Fowes) W &0 dfFr & 9@ &

—-

2NIOOH+ 2H,0+ 2¢° “m

Ans X 1. 2Ni(OH), + (H0)
X 2 3Ni;SO4 + 2HCI
< 3. NipHO, + 2H,0

v 4 2Ni(OH), + 2(OH)

Question ID : 6044815111

292 Which of the following statements is true? Bussiion AU
Ans ¢ 1. 200 k€2 is equivalent to 2 MQ.
« 2 An electric insulator has a high resistance.
X3

An ammeter has a low resistance and must be connected in parallel with the circuit.

X 4 Electric current is measured in volts.

Q.93 . - ;
m ICER: N mﬁ H ﬁqﬂ?[ YT Ald a'l_l-l Question ID : 6044815053

2ohm 3ohm

gaohrn

1] MV~
Ans X 1.0.711 A
v'2.0.824 A
<31.325 A
41438 A
s T T —————
Ans o 1. Carbon
X 2. Copper

Question ID : 6044815003
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X 3. Silver
/< 4. Constantan

Q.95 In nickel-cadmium cells, the electrolyte is a mixture of
Ans

Question ID : 6044815086

< 1. potassium chloride and deionised water
« 2 potassium hydroxide and deionised water
X 3. sulphuric acid and water

/< 4. potassium peroxide and deionised water

Q.96 100 m =¥ & v AR, SwF TF FAW IR FE & a9EE 0.01mm® § AR SR 60 pe-em 3,
FweRr SfEy R @ Question ID : 6044814996

Ans o 1 6000 O
X2 6x10730
X 3600 0
X460 0

V7 e F7 RAfte gk BRE 9T R #ar 2 Question ID : 6044814995
e X1 s FETS 9fY s SNEd W

X 2 ZHFHr FEE W

Vs §EF e W

X & SHF HIIET FIT F 8ThT T

Q98 The voltage rating for batteries is based on the O ———

Ans  of 1. number of cells connected in series

X 2 electrolyte used

& 3. chemical reaction
/< 2 number of cells connected in parallel

* v aftwy F Regd aeE T FT T 2 Question 1D : 6044814986

fre X ofger & SRR Y FH aT §
X 2 fA9EiaEt #F F7 a1 8
X 3 gftgy & gfady & agrar §
v ¢ TqeETar F AT AT &

Q.10 230 V 319/ X 60 W ¥ 39 & v ag # §9% FAMT TAS T Il 7 F _
0 ° Question ID : 6044815040

Ans 2X1.1000 @
v'2 88166 Q
<3990 Q
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< 4 98166 Q

0-110 frafafle R &1 B & F, 8 @ wferus # Rega o 79 17

. 1,
?m

Ans X1.1.895 A
v'21632 A
X32434 A
X4 0.263 A

Question ID : 6044815073

Q.10 rees 3 : p——
: The gap between valence band and conduction band is known as Question ID : 6044815094

Ans X 1. corona gap

X 2. spark over gap
v 3 forbidden energy gap

X 4 air gap
Q.10 7% 5 A 1 fggd v 3 we & 3y & v varfea @ 8, o wuwiaiE s & A= g
3 Question ID : 6044815028
Ans - X 1. 600 C
X260C
<3100 C
V4900 C
0.41 0 When a current of 5 A flows through a resistor of 4 . the power dissipated by it is: T —
Ans X1 20W
v 2100 W
X3 625W
X4 80W
@10 Superposition theorem is applicable to: ihoestion iDz6iA4R 5055

Ans X 1. non-linear bilateral network
X 2. any type of network
< 3 unilateral network
« < linear bilateral network

0'51 O ux 240 v, 60 W 3 &7 Frieher gfertyr faraar gem? Question ID : 6044815027

Ans X1 690 Q
X260Q
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#31400 @
V2 960 Q
Q.10 Incase of liquid dielectric, as the gap spacing between the electrode increases, the breakdown voltage 5
7 Question ID : 6044815104
Ans

X 1. decreases exponentially
X 2 decreases parabollically

v 3 increases
X 4 decreases linearly

Q.10 ST A FAST goEEr B HEr
8 S & o R ST ¥ Question 1D : 6044814981

Ans X 1. Uk HTAH
v o 3T

X 3. Ferde
X 4 TH TR

10 : . o
°9 The SI unit of electric potential is: Question ID : 6044815013

Ans X 1. coulomb
X 2 siemens
X 3 ohm
v 4 volts

N gorg #r R A= (S1) FoTRr F foegaun i gES w7 2 Question ID : 6044814982

Ans o1 XTI
X 2. S

X s FeH
X o T

Q.11 Batteries are composed of one or more cells, each containing: Question ID : 6044815077

Ans X 1. positive electrode and negative electrode

X 2

a neutral electrode, negative electrode, separator and electrolyte

v

a positive electrode, negative electrode, separator and electrolyte

p

a positive electrode, ionic electrode, separator and electrolyte

il UATCHE ﬁaa:fm FoFEIE) HR™FaT i
Qz gy~ - ¢ PR ke Question 1D : 6044815084

PDO; + H,50,+ 2H + 26 «——

ans X1 NaOH + 2H,0
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X 2 3PbySO4 + 2HCI
v 3 PbySO4 + 2H,0
X 4 PbyOy4 + 250,

1 TS SR sy
Q3 WiEe e g 2 T S R iy R 6 Question ID : 6044815036

A 1 50% FHA g SATTET
X 2 25% &HH g AT
X 3 25% §g ST
X 4 50% s FATTT

Q.11 100 W =7 v= fiegs === 250 V Seoradt umr (vafh) smafd & mry wafsm frar amar @1 oftwyr o Rl

4 FEgRomd Question ID : 6044815025
Ans X103 A
X206 A
v:04A
<44 A
Q‘;ll T e a2 ¥ v gET a9 R &+ o FI Question ID : 6044815080
b
PbO, + Pb + 2H,50, —*
=

Ans o 1. 2PbSOy4 + 2H,0
X 2. PbOHy + 2S0,
X 3. 2H,SO4 + 2PbOH
X 2 3PbSO4 + 2H50

! TR Ry # g fega o F1 W 9| W Question ID : 6044815126
3ohm
—\W———
§ 120hm geohm
@ 8V )
i |
Ane O TYORES
v265A
K316 A
<175 A
°-_}‘ The ability of a charged particle to do work is known as: Question ID - 6044815012
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Ans X 1. potential difference
X 2 magnetism
X 3. magnitude
v . electric potential energy

a1 :
Qa 25 W, 40 W 3T 60 W & &7 oeal & & ma8 &7 gfairr e gem? Question ID : 6044848042

Ans X140 W aTer FoF T
v'2 60 W aTer 568 T
X325 W 3k 60 W aTer s, alar T
X 4 25 W arer ae9 @

- . . :
Qg frrafaf@a aftay # 3 ke sfadus & Rega o s+ Question ID : 6044815127

@::)v %woum %mr\m ?mnm

Ans X 1.6 mA
v 22 mA
X33 mA
X411 mA

Q.12 0°C W, @ & vw 7t # 4 me F wRRw § 3R gEF SRRy & aEe one 172345 9f°C §1 70°C
0 T I T9AE O o A A S Question ID : 6044815037

A of1.0.003284 wfr °C
# 2 0.003434 9fa °C
# 3.0.003248 wfa °C
X 4.0.003428 9fa °C

Q.12 Regy 3vwed (Feeeeme) ¥ T, Nicd 3 & s 7 ST R S ¥
1

Question ID : 6044815114

Ans

X1 fowa grEgeuEs
X 2 Of3gH FEEs
v IREIA FEgEEEs
X o SEfEs grTaEs

)2 An electric current is the flow of: Question ID : 6044814985

Ans  3C 1. neutral charges only
/< 2 negative charges only
X 3. positive charges only

'+ both positive and negative charges
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Q.12 Fe=faf@e ooy # 8 @ 3k 40 iRt ¥ Aoft F7 woee § fege o 73 F:1)

Question ID : 6044815118

ans 61.0.75 A
X2025A
v:205A
Xa1A

Q.12 - : .
o fedr o afmy &, 12 @ gfeRty # Rega o/ FE R Question ID | 6044815119

Wm

§ 4ohm
12o0hm
(rav §

?am

Ans o105 A
X215 A
X2 A
X+1A

Q.12 vF 7/ & 5T 6 0 §1 3 A7 & Fad F 3 T giw F AR § AT AGEEy Fe F I F 2 T
5  §fE & = & & AW & Wiy F4r @ seen?

Ans X 1.36 Q
K212 g
X330
viga

Q.12 w6 @ wiEus # & 50 92 & @ 3 A g uw vaie @ 1 s ganr sws o e
6 et 2

Ans X 1. 9 kWh
X 2 0.9 kWh
X 3. 27 kWh
v 27 kWh

Q.12 = vEfes T &, B R 40 °C W15 o §, 120 °C 7% T R e o s
7 st ww efemA) 0 °C 5T 0.00333°C ¥, & 40 °C W swh aEE i ud () Question ID : 6044815110

/°C gt

Ans X 1. 0.00033
< 2 0.00029
v 2 0.0029

Question ID : 6044814998

Question ID : 6044815044
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X 4.0.0033

.12 : y
022 Srfafee ooy # $o Rega o/ & 79 719 H Question ID : 6044815125

3ohm

o

®

6ohm

§ 120hm § Gohm

ARk
s of 14 A
X 2525 A
x<365A
X435A

12
9% FF AAE W U FUEEF F TR F4T gem? Question ID : 6044815022

Ans x1- ﬁﬁ‘
X2 THh
X3 T

v 3

Q.13 % wF WAy § AT ST & 6Ew 4 ¥ 31 @ J 9w o ST 37
0 = 2 i W Question ID : 6044814980

Ans X 1. Teh HToleh
X 2 3EEa
v 3 TF TR

X 4 o FdETeE

Q.113 TRl & IOT F FUR 9T, TR # F RR 7 ama #+

Question ID : 6044815102

X 1. drumer
v 2 e
X3 A
X 4 Fafore

Q13 Aqi . : .
,  Acid concentration is generally expressed in terms of: Question ID : 6044815082

Ans

Ans X 1. specific permittivity
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X 2 specific capacity
X 3. rated capacity
v . specific gravity

Q';P mmﬁmmﬁmm{hm@—mm Question ID : 6044815115
e X S urarRT (TFEe R

v 2 semahT

X 3 w

X o TBRrsH (wEeEfes)
QJB ﬁm‘ﬁﬁ'ﬂ“ '\Qﬂ' ﬁ m m ﬁ’_('ﬁfr ﬂ?ﬁ ?ﬁ Question ID : 6044815088
Ans o112V

X220V

X3212V

X444V
Q.;3 it b -~ Question ID : 6044815002
e X138

X21Q

vidq

X+2Q

Q.13 The sulfuric acid (H>SO,) concentration in a lead-acid battery becomes highest when: .
6 Question 1D : 6044815081

Ans 1. the cell is fully discharged
« 2. the cell is fully charged
X 3. the positive electrode is discharged
X 4 the positive electrode is charged

Q.13 A portable machine requires a force of 200 N to move it. If the machine is moved 20 m in 25 s, the power consumed in

doing this will be: Question ID : 6044815045
Ans X 1.1,600 W

X2 16 kW

X 3160 kW

v 1160 W

Q-;3 Treafeias 9wy #, 1.5 0 SR § 597 aees PREE (379) FT &?

Question ID : 6044815075
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V1225V
X225V
X315V
Xa2V

Page 27

Ans

Q13 Rrfaf@m & & firm a7 31 R 35 A TR T SR 2

X160 W, 220 V &
X225 W, 220 V &
<3100 W, 220 V &
v+ 200 W, 220 V &

Question ID : 6044815032

Ans

9.4 Which of the following statements is true?

X1

The average EMF of nickel-cadmium battery is 6.2 V per cell.

o

The average EMF of nickel-cadmium battery is 2.5 V per cell.

v

A nickel-cadmium battery is superior as compared to a lead-acid battery.

X a4

A lead-acid battery is superior as compared to a nickel-cadmium battery.

Question ID : 6044815116

Ans

Q-:4rq\amaa=rqﬁw_3ﬂ?m_amam;

X 3=, B

v o A, T
X3 3=9, 3=

X o Frm, 3=

Question ID : 6044815105

Ans

0-214 frafafla R & Reawor & F 5 @ 9fes # fega uwr 79 #4

2ohm

1ohm

I:TJ A
X1 1438 A
v'20711 A
31325 A
/40824 A

Question ID : 6044815054

Q.14 afz vw w0y # TR soEgAT S FEA 4 ® S g, a S F w7 w87
3

Question 1D : 6044814979
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Ans  of 1 Tep TTolh
X 2 e T
X 3 3
X 4 TF FAToH

14 ; '
QM & R e R A, 1 @ e # Rega orr Rt 32 Question ID : 6044815055

2ohm 3ohm

§Goam

1]+ AV
Ans X1.0.824 A
X21325 A
X3 0113 A
v 215 A

Q.14 =% a7 T=fefEm oftoy ot o 0w ofoy & mmerer e TR § S o e i ik
5 Wi g, A 3w sl w1 A a gee Question ID : 6044815123

Ans o115 Q
X21252 @
X 31660 Q
X410 Q

Q.14 : : : ;
o Constantan is used for preparing resistances because: Question ID : 6044815035

Ans  of 1

resistance shows no change with variation in temperature

X 2. resistance of constantan is zero

X 3.
resistance is linearly proportional with temperature

X a
resistance varies exponentially with temperature

Q.14 w25 W, 220 V &7 &= 3T & 100 W, 220 V &1 &% AT # S fmdr ot ¢ aitv 220 v s
7 FEEe f FE w e R S Sewe wen? Question 1D : 6044815041

Ans X1
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FoF IR TR 3o A & T does AT 74T &
X225 W de
X 3 ST FoF T FHA TR 390 HT
v 2100 W T8

Q';4 rﬂf;,q,gmﬁ:;mﬁ e R e o Question ID : 6044815031
e K1L20W &

X260WH

v3ig0WF

XL10WH

Q.14 | Tma—
g SRl 3 0T F IR W, a¥ I Question ID : 6044815101

T, Fw T (), Bftse ae-d s (), Swas
Ans xlm

v g

X 3. fafrse -3 w9 ()

X« i\ 7o (f5=)

Q1S SR (o) & ST T F A B T @ w82 S —
Ans X 1. g #r wEE

V2 e & wpia i aEE )

X 3 IIIET FIE F &IB T

X 4 gy & ST 9T

Section : General Awareness
Q.1 153 3T 1637 7 # Fa% A FAEA A ¥ OF, Tieed §F FHSY # TS #7 AF aaqe|
Question ID : 6044815134
Ans JW aﬂﬁﬁ;ﬁqﬂ s
' 3

X 2 FIER

X 3 FIET

A )

Q.2 m £ ﬂﬁT T %"’ Question ID : 6044815133 ]
e X SRafg e
X 2 S
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v 5 ERAREE TIaT
X 4+ gEAfang |

Q.3 T g aWEE, SRS A AR g s F 4wE 51 A a6 o SREE A9 W g

Question ID : 6044815148

e 20 fRfRar s '
X 2 garrar Frsrer
Vo gFET el
X o e ageett

Q.4 ‘s Rm 2020 $ ofweaar s T cafdaes &1 AW 99| a9 U RS T F w9 A 0 &
e # §FE wa § Question |D : 6044815144

e XK madEa R
X 2 3o Tl areedr
v TS, Hegd HAH

X o TgaTg A3

Q.5 ‘o v ae e & & 5 g §7 I8 mEeA el g R U BEA o

as X Fg
X2 gaods
X3 gfEar
v o T 3nfre

Question ID : 6044815139

% ewRT I FUAT sAH @ s qA FIAT &7 Question ID : 6044815147
Ans XT ga.

X g

W 3 TETeT

X 4 ATEPIAETFE
Q7 maamaméﬁﬁﬁ#mwmaﬁ%?mmm?ﬂwﬁ
fre X1 ¥y =R

X2 3z e

X : 3AfeE qeAT

v T 3

Q.8 wonfaw 3% ‘€ ACEEITET TR UF e SBAT & oNEE F AH GAT0| Ser Al SRAT ST
FEH # F UF FA AT Question ID : 6044815137

Ans 1 e @ Shd

Question ID : 6044815140

www.ErForum.Net



www.ErForum.Net Page 31

X2 JFF T3
X 3. HETcAT ey
X 4 T, TH. A9

Q9 1960 & arfrhr Tor MBI FEE 7 W A ¥ W AT I H?

Ans Xlgﬁ?ﬂﬂ'
X 2 g3l

V'3 g

X FeTels
Q.10 st & 3t 1 FEE TEREE Y A T R A E S g @ o o
e el RRE

X2

X 3 3ufa

X 4 ofRvar

U1 g & WEHT T A3T AW F9 ¥ 5RG F FE a@w F 2 Question ID : 6044815142

A e ﬁ?’é’
X 2 fEet
X 3 311_9!:?
v %ETIE'IE

Q.12 3% ST Foa= F AH T Segie @ a8 W0 & S B A e A 3w e e e
Eckckall Question ID : 6044815130

e HfeE R
X 2 gl 3T
Xs.'ﬂ?ﬁ?—l’ﬂﬁm

X o+ HAHT Her @i qAtEr
Q.13 Google 3 wisiar Wit Het R & e sehar NP T F 37w A2 T v 7
M FEIEEr wEeTX

<2 I fewer

Ko SRS TS

o4 ITEHRE FFH

Q.14 gl Zamr 39eTs 9= Al 5 & A ¥ FIF 0F §W ¢ 9§ aEg A W g7

Question ID : 6044815132

Question ID : 6044815146 J

Question ID : 6044815135

Question ID : 6044815143 ]
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Ans v FeT
X 2 &aT
X< 3 ZHET
X o =

Q.15 =% ‘v oRa 3% sEaw & 3uE & A7 60 SWH uE HRE § e S SREURTT AT aREer
& T = Question ID : 6044815129

e X e o Sl
v & ug. dEe
X 3 [qHF =TT
X 4 ofdr awT

Q.16 wmaw ¥ fig 7ewe & ¥R 39 gOW JE g8 F A9 TG S SAE ST AR ¥ SIe FEw
o & v o Question ID : 6044815136

ans of | el
X 2 Geadlem
X 3 frea
X« o

YV SiqaTed e & HEUTTE WS HieT £7 Question ID : 6044815138
e X1 & TR

X2 3 Bae

v Bg T

X fem 3%

Q.18 #mit 3 & v A Far w1 FF I A &y AW 3w I I & F=0E § O wpw F e s
Wi wmTT A TR E® Question ID : 6044815145

e o 3R i
X2 Fqar

X 3 3AfET

X 4 aifepEare
Q19 spararer oo & el & & v wrdER §1 3@ AW F IR 3w 3
e X1 v g ofeTar @ arer e

X7 Fr Sl

X+ o T

v o IS FT AR

Question ID : 6044815131

az0 [ |
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B I v & wE HEEE ¥ @ E W e (F T ¢ S d v aatie e wde Question ID : 6044815141 J
T

Ans x 1 $?ﬁ3'
v TEacstels
X ww
X4 |

Section : Reasoning

Q1 Cr=fafem Jwer # @ = & B vew svgea Reew &1 91 #:1
1,2 2.4, , 6, 343

Ans  of 1.125
X225
X 3 255
X 4 225

Question ID : 6044815167

2 a5 s
02 s a ol b e ’ Question ID : 6044815162

156—6+24 +12x4=2

A off 1% ik~
X2z 3+
X3z 3t x
X4+ 3 -

Q.3 @ vF FuF AR 36F T TC AF BU A0 §| O T FAA F Fed AW, 7S § ¢ A AW WAL
T FTr At m R TR o & F A w S B T e o W Question ID : 6044815160
e g

w:
7 fereifems a==t #7 F99 AR @ o F & 9w SEr afge?

a&
. &, Betews a=i & v @ & A gite awE
II. S, B & AT T # ST FAG A F T T S0 A smEeEma §

Ae X 2T a& TsdeRer a9
N i
a& | Tr T |, 2 & TISAHIT W F4T 2

V'3 Fger T || TISEFIOT TT B
X 4 Fae @ | TISEIHIOT A9 T gl

Q.4 ™ &y Tv 9 Teea & § A9 FHew vw v /0% ¥ wEe § 39 Teew 1 e U S e
et & 3eT ¥ Question ID : 6044815159

i X Rfer (Ringgit)
X 2 &TE (Baht)
v 5 BT (Gold)
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X 4 %% (Franc)
Q.5 @ @ fow o § ol ww @ & 3o Pt R aw | R o sl 0 ae A6 e & 3 o Al
e Ft ¥ e gt i aT ot B R e Rt @ @ st m@) R R e syat & b b Question ID : 6044815153
T
I. FE 3Ty T E
Il o athr dw
Fored:
I o #w s
II. Fr§ 7 amg T B
Ans 3
X . Faa Y || FHEIT B
X2 frssg | 3 |l =t aFEea E
X 3. Faer orF | IHEETT B
v fasey | 3R 1 e & aFEeT FE
Q.6 =t lw mmm .
Q # o F@ & faw F T Question ID : 6044815166
b Y58y 8] - o
Ans XL E
va2u
X3 G
X248
Q7 T v
ol J@er & U & & e 7@ s5gea Reed ) Question ID : 6044815154
Z . P. . F A
ane AL
X2H
X3 N
viK
Q8 WErE A THF A HR G FUA, vE () A Q) PTG FT R N WA S F A
IR & & e R mar ger wiew & ar wd Question ID : 6044815161
LLCH
I B T gF @ §0 g W @ &, W e R # 3 3w W §) o F O R g 37
FU:
(1) e, TFT e A 40 maR A F o F 0 m R B
(2) T, SO F 9fEE F 80 m 9T §, S AR & IHor F 100 m W T
Ans x1'
FUF (2) Hel T @ Ieal & % [T TACT §, oifeheT wuUA (1) Hehem TATST F4T £l
X2
Fuw (1) 3K (2) S vEry W # Seaw 2 ¥ v goem w8 E
Vs
At FUS AT T F 30w & & v gaey § afe F1F ofr Fue ke e w4 3
X
FUT (1) HFer ToF F 3o &8 F v oo &, afea = (2) e woea =47 &1
Q.9 ]
Question ID : 6044815155
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e v a9 S A A HF w0 @ §) 9 A g AW 14 m gewn §1 B, a9 v wE 4
FRHE It A 21 moawer §) R, 9 69 @ 6N s e @ AN 4 mogeer §1 E A, 9
9 @15 AT HEeT f AN 30 m Twer §

30+ TARF T & "ey # 3w AW we e R # 32
B AR

X 2 fRorafeas

X 3 FeaR-afREs

X+ ofyas

Q.10 fw v aw fwest & & & o§ smpfa & wé ador ofF 99 afor smee MN &@mRT Zaiar
Ans

X1

Question ID : 6044815168

X a

Q.11 afx &= ' 3 - 3 F@w @ #RK ‘6 & WER 7ga T 51 £, ° FEeies e & A a1
e Question ID : 6044815163

30-24+6 x8+32

Ans X 1. 256
X2 48
X324
v+ 16

Q.12 Feafofes = a5aa IFA § aareyd Fd a0 §a9 SUGFT [awed 1 9 Fl

Question ID : 6044815165

A. BaT

B. FEred
C. ¥
D. =1

Ans off 1.
C. &R, A. f5em, D. T=9, B. #Agd™

B
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A. f&em, D. =9, B. #gieam, C. @7
X 3
A. 3@, D. =9, C. @R, B. #AgEa™
X 4
A. f&em, @, #9R, D. T4, B. #gea

Q.13 = & 7§ Sl F 9 SR FEE I9gEFA Fwed AT BT AT WA 7 e & J

47 Bt & vw wg A, v i W @ e 2 A qea R e deer s $1 35 S R Question ID : 6044815156
BT S § AT 23 T Fearer dore e

formrt T gt o frde W @ v B2

L R
v 211
X312
X414

Q.14 v BFeT = 737 Ft = W W § I TE TEOS &, FW F g@0 o T 0w F w4 &

Question ID : 6044815158

HRE oA R AT
X 1. 3T
X 2 38 amET
X 3 2
v 4 e
Q.15 afy TRAM @r 6-10-25-15 & & F13 fwar =mar &, & AMATEUR & T = &5 7
Ans - X 1. 26-13-26-4-23-7-11
X 2. 25-13-25-6-22-9-10
X 3. 26-14-26-5-21-7-8
v 4 25.15-25-8-21-7-8

Ans

Question ID : 6044815152

Q.16 =% fean #r 3 Hr FF T3 35 o F oF AT gg #, 3gE IRT F A N E 7 § FE W E
¥ AT e & @7 11 o §) S & o AR e e wm w Question ID : 6044815149

e K18 &
v217 %
X316 3
X421 3

Q.17 @ Fu= fow o ¥ sy o & & Fo freed B e §) Rw o st oo wE e & 3 o A W
T e ¥ B @ A 5T w5 R o freet § F @ @@ feet R e s a6 i) Question ID : 6044815150

Y
I wofr 5T A
Il = & = &

Fere:
I g a w
Il. wfr A\
. F s o &)
IV. = Sar ox @
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X 1. Faer forsas | FHETT B

v ey | 3R I g F
X = g |l 3 IV aFEea
X 4 Faer Ty ||| FFET

Q18 zfr AT = 33 3k OAT = 45 ¥, @ TODAY fFas sty &2
Ans X 1. 67

<293

v:70

< 4 81

Q.19 #ffE Fifsar # a7% s < § ¥R Faar 8, ‘T A0 A F awe F I8 F gest § Fat i
¥ @ifte F Faw w o § ol & afte @ s fear #2 Question ID : 6044815157

Ans o 1 g
X2 T

X 3 g9gd
X 4+ ||

Question ID : 6044815151

Q.20 e afRaw # 10 m Tweh § A BT e ad AT 16 m 5% o #1 B a7 e aid S e e §
#T 14 m ToEr #) 6, @7 e ad R s § # s St oge & B 23 mogeEr # Question ID : 6044815164

IR FAF A FHE TH F FEAET F RO e @ e ow @ der & 5@ Baer siac aeen
=ifew ar?

Ans X119 m
X222m
vi:25m
X431 m

Section : General Hindi

+ CHIEILOT " 311'm‘r a': Question ID : 6044815170
ans X1

X 2 qoT

X s T

v 3g

“ S gromee AT Question ID : 6044815174

Ans X1 3BT
&2 B
Vo T
X 4 gelal

=

Q.3 [ 1
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o = T : otz a_ l Question ID : 6044815172 I
ms o TG

X2 e

X3 T

X 4 9T

Q.4 Cr—i:s ﬂ- %\qa;r SO g agaa;[ Py ?k‘-lT %7 Question ID : 6044815178
e X

X 2
X3 ardr

vz

Y oweT # aoaw e T Question ID : 6044815169
ans X 1. SRAT

v -

X s st

X« sw

ae ‘HAT & qOETET & Question ID : 6044815175
A X1 forpae

X 2 g8

X 3 96

v

ST ¥ "AT A %" Question ID : 6044815171
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